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１  下のような立体の体積を求めましょう。 

 

 （１）                                （２） 

 

 

 

 

                                  

 

 

 

   （式）（４＋６）×３÷２×５＝７５     （式）６÷２＝３ 

            台形の面積（立体の底面積）        ３×３×３.１４×１０＝２８２.６ 

 

       体積  （  ７５  ）ｃｍ３            体積  （  ２８２．６ ）ｃｍ３ 

 

 （３）                                  （４） 

 

 

 

 

 

 

 

 

 

 

   （式）１５×９＝１３５            （式）８÷２＝４ 

                            ４×４×３.１４÷２×６＝１５０.７２ 

 

      体積  （ １３５  ）ｃｍ３           体積  （ １５０.７２ ）ｃｍ３ 
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※円柱を半分に切った形 


